Chapter 22 Pulling It All Together: The Strategic Marketing Process
Multiple Choice

1. Emerging consumer trends reveal increased demand for ___________, environmentally friendly, and healthy products that are attractively packaged and produced in smaller servings. a) instantly cooked
b) cheaper
c) high calcium
d) high fibre
e) convenient
Ans: e
Feedback: As a marketing manager in a food-related company, one of the key challenges faced would be that emerging consumer trends reveal increased demand for convenient, environmentally friendly and healthy products that are attractively packaged and produced in smaller servings.
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2. For a large company like the Fraser and Neave (F&N) group, making the right decisions in marketing new dairy food and beverage products that cater to consumer needs and increase company revenue is no easy task. To achieve optimum efficiency and expansion for the company’s growth, F&N will have to ____________in a manner best calculated to produce results.
a) allow only one out of four new brands to maintain distribution for three to four years
b) carry out a new product launch that typically costs up to $30 million
c) to differentiate its new brands from other competitors with products already sitting on the supermarket shelf
d) allocate its resources 
e) all of the above information would be important to the success of the Fraser and Neave (F&N) group 

Ans: d
Feedback: For a large company like the Fraser and Neave (F&N) group, making the right decisions in marketing new dairy food and beverage products that cater to consumer needs and increase company revenue is no easy task. To achieve optimum efficiency and expansion for the company’s growth, F&N will have to allocate its resources in a manner best calculated to produce results.
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3. After carrying out marketing research to assess the feasibility and financial attractiveness of its new products, the Fraser and Neave (F&N) group recently introduced __________.
a) an oat-enriched milk that appeals to health-conscious customers
b) ice Cream that has been specially designed to appeal to children, with its child-friendly packaging and flavoring
c) ice Cream endorsed as a “healthier snack” by the Singapore Health Promotion Board, and so appeals to parents who want to improve the mental and physical growth of their children
d) yoghurt Petite Ice Cream that provides ice cream in small portions, with just 56 calories in each stick of ice cream, half or one third of the calories of a normal ice cream stick.
e) all of the above

Ans: e
Feedback: Examples of new dairy products from F&N include: 
F&N Magnolia Oat Milk is an oat-enriched milk that appeals to health-conscious customers.

F&N Magnolia Smoo Ice Cream has been specially designed to appeal to children, with its child-friendly packaging and flavoring. It is also transfat-free and calcium-enriched, and is the first ice cream endorsed as a “healthier snack” by the Singapore Health Promotion Board, and so appeals to parents who want to improve the mental and physical growth of their children. 
F&N Magnolia Yoghurt Petite Ice Cream provides ice cream in small portions, with just 56 calories in each stick of ice cream, half or one third of the calories of a normal ice cream stick. This low-fat, transfat-free range appeals to consumers in search of healthier, guilt-free alternatives to ice cream. 
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4. A __________ is a unique strength relative to competitors.
a) distinctive parity
b) sustainable dominance
c) synergistic edge
d) market dominance
e) competitive advantage
Ans: e
Feedback: A competitive advantage is a unique strength relative to competitors.
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5. Marketing executives may exploit a competitive advantage by __________.
a) finding and using what works for their organization and industry and allocating resources effectively
b) always opening more locations than any of their competitors
c) always doing more advertising than any of their competitors
d) always providing the lowest priced product in the industry
e) all of the above are ways to exploit a competitive advantage

Ans: a
Feedback: A competitive advantage is a unique strength relative to competitors. Corporate and marketing executives exploit competitive advantage by finding and using what works for their organization and industry and allocating resources effectively.
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6. Superior business performance is related to __________.
a) strategy
b) execution
c) culture
d) structure
e) all of the above
Ans: e
Feedback: According to Nohria, Joyce and Roberson, superior business performance is related to strategy, execution, culture and structure.

Page: 612

Learning Objective: 1

7. Which of the following companies excels at delivering on a focused strategy?
a) Ryohin Keikaku – MUJI Chain
b) Sam's Club
c) Coca-Cola
d) Kodak
e) Toyota
Ans: a
Feedback: According to Nohria, Joyce and Roberson, superior business performance is related to strategy, execution, culture and structure. The Ryohin Keikaku Company, which owns the Muji chain of retail stores, adopts a code of simplicity, stressing a streamlined process in the design and production of its vast range of over 7,000 high-quality products, and thus ensures reasonable prices. Toyota develops and maintains flawless operational execution. Smuckers developed and maintains a performance-oriented culture. Lockheed's Skunk Works built and maintains a fast, flexible, flat organization.
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8. Which of the following companies excels at delivering on operational execution?
a) Costco
b) Sam's Club
c) Coca-Cola
d) Kodak
e) Toyota
Ans: e
Feedback: According to Nohria, Joyce and Roberson, superior business performance is related to strategy, execution, culture and structure. Costco is known for devising and maintaining a clearly stated, focused strategy. Toyota develops and maintains flawless operational execution. Smuckers developed and maintains a performance-oriented culture. Lockheed's Skunk Works built and maintains a fast, flexible, flat organization.
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9. Which of the following companies excels at delivering on a performance-oriented culture?
a) Costco
b) Sam's Club
c) Coca-Cola
d) Kodak
e) Creative Technologies
Ans: e
Feedback: According to Nohria, Joyce and Roberson, superior business performance is related to strategy, execution, culture and structure. Costco is known for devising and maintaining a clearly stated, focused strategy. Toyota develops and maintains flawless operational execution. Creative Technologies builds on its founder’s innovative spirit in fostering a culture of curiosity, playful irreverence, customization, and innovation. These four core values have paid off for Creative, as the company is now a global leader in digital entertainment products, with numerous international awards and a reputation for introducing revolutionary technologies. 
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10. Which of the following companies excels at delivering on a building and maintaining a fast, flexible, flat organization?
a) Costco
b) Sam's Club
c) Coca-Cola
d) Kodak
e) Nestlé
Ans: e
Feedback: According to Nohria, Joyce and Roberson, superior business performance is related to strategy, execution, culture and structure. Costco is known for devising and maintaining a clearly stated, focused strategy. Toyota develops and maintains flawless operational execution. Swiss nutrition, health, and wellness company Nestlé now recognizes that a shift from the traditional task-oriented and hierarchical company structure to a results-oriented, flat, and flexible one can improve company performance.
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11. Sales response functions relate the __________.
a) expense of marketing effort to primary competitor's spending
b) expense of marketing effort to marketing results obtained
c) market share of firm to market share of primary or nearest competitor
d) incremental costs to market share
e) increase in revenue to relative increases in costs
Ans: b
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12. Economists would most likely recommend that marketing managers allocate the firm's marketing resources to the markets and products in which __________.
a) the firm has had the most experience
b) an SBU is considered a cash cow
c) there is the greatest current market share and the fastest, growing industry rate
d) the excess of incremental revenues over incremental costs is greatest
e) total revenue equals total cost
Ans: d
Feedback: When the excess of incremental revenues over incremental costs are greatest for one product or market compared to others, it will provide the greatest addition to profit.
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13. According to Figure 22-1 an additional annual marketing effort of $1 million is best spent after having already spent how much in marketing effort to date?
a) $1 million
b) $2 million
c) $3 million
d) $5 million
e) $6 million
Ans: c
Feedback: Figure 22-1 shows that an additional $1 million of marketing effort, from $3 million to $4 million, results in far greater increases of sales revenue in the midrange ($20 million) of the curve than at either end (an increase from $2 million to $3 million in spending yields an increase of $10 million in sales; an increase from $6 million to $7 million in spending leads to an increase of $3 million in sales).
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14. The relationship of annual marketing effort to annual sales revenue is assumed to be an S-shaped curve because the sales response function shows __________.
a) that when demand diminishes, production costs rise
b) an additional $1 of marketing effort results in a far greater increases of sales revenue in the mid-range than at either end
c) the point at which total revenue and total cost are equal
d) decreasing costs as a result of marketing economies of scale
e) increasing costs as a result of the attempt to gain additional market share
Ans: b
Feedback: The sales response function relates the expense of marketing effort to the marketing results obtained. At first, additional dollars of marketing effort give increasingly greater marginal returns; then there comes a point where additional dollars of effort result in smaller marginal returns. In the midrange the results from each additional $1 of marketing effort is greatest.
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15. The S-shaped curve of a sales response function is due to __________.
a) rising production costs and diminishing demand
b) reduced cost and increasing marginal returns
c) initially increasing and then diminishing marginal returns of additional marketing expenditures
d) decreasing costs as a result of marketing economies of scale
e) increasing costs associated with attaining additional market share
Ans: c
Feedback: The sales response function relates the expense of marketing effort to the marketing results obtained. At first, additional dollars of marketing effort give increasingly greater marginal returns; then there comes a point where additional dollars of effort result in smaller marginal returns. In the midrange the results from each additional $1 of marketing effort is greatest.

Page: 614-615

Learning Objective: 1

16. You have been told that a company increased its marketing effort from $2 million to $5 million and that the same company increased its sales revenue from $12 million to $21 million. Calculate the company's ratio of incremental sales revenue to incremental marketing effort.
a) 3:1
b) 1:3
c) 9:1
d) 7:19
e) 7:33
Ans: a
Feedback: (21-12)/(5-2) = 9/3 or 3:1
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17. You have been told that a company increased its marketing effort from $3 million to $5 million and that the same company increased its sales revenue from $10 million to $20 million. Calculate the company's ratio of incremental sales revenue to incremental marketing effort.
a) 3:1
b) 1:5
c) 5:1
d) 5:20
e) 7:33
Ans: c
Feedback: (20-10)/(5-3) = 10/2 or 5:1

Page: 614-615

Learning Objective: 1

18. Share points are defined as __________.
a) the weighted number of target market revenues relative to all target markets within a firm
b) measurements based on million dollar increments of industry revenue
c) percentage points of market share
d) percentage points of revenue generated by different products within one firm
e) the excess of incremental revenues over incremental costs
Ans: c
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19. New Balance has no celebrity endorsers and does minimal advertising, yet the athletic shoe brand has 11 percent of the market. This 11 percent can be referred to as New Balance's __________.
a) product line breadth
b) product line depth
c) share points
d) sales response function
e) direct response rates
Ans: c
Feedback: Share points are percentage points of market share, in this example, 11.
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20. When using share points to make marketing resource allocation decisions, marketing managers must estimate all of the following EXCEPT __________.
a) corporate return on investment
b) market share for the product
c) revenues associated with each point of market share
d) the contribution to overhead and profit (or gross margin) of each share point
e) possible cannibalization effects on other products in the line
Ans: a
Feedback: To make resource allocation decisions, marketing managers must estimate: (1) the market share for the product, (2) the revenues associated with each point of market share (a share point in breakfast cereals may be five times what it is in cake mixes), (3) the contribution to overhead and profit (or gross margin) of each share point and (4) possible cannibalization effects on other products in the line.
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21. When using share points to make marketing resource allocation decisions, marketing managers must estimate all of the following EXCEPT __________.
a) market share for the product
b) revenues associated with each point of market share
c) the contribution to overhead and profit (or gross margin) of each share point
d) possible cannibalization effects on other products in the line
e) all of the above are used to make marketing resource allocation decisions
Ans: e
Feedback: To make resource allocation decisions, marketing managers must estimate: (1) the market share for the product, (2) the revenues associated with each point of market share (a share point in breakfast cereals may be five times what it is in cake mixes), (3) the contribution to overhead and profit (or gross margin) of each share point and (4) possible cannibalization effects on other products in the line.
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22. Which of the following pieces of information is used in a SWOT analysis, the first step of the planning phase of the strategic marketing process?
a) Corporate return on investment
b) Market share for the product
c) Revenues associated with each point of market share
d) Projection of future sales, expenses and profits
e) Possible cannibalization effects on other products in the line
Ans: d
Feedback: The SWOT analysis may require the following information: (1) trends in past and current revenues for industry and competitors in total and by segment, (2) future projections of revenues, expenses and profits for own product in total and by segment.
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23. Which of the following pieces of information is used in a SWOT analysis, the first step of the planning phase of the strategic marketing process?
a) Corporate return on investment
b) Market share for the product
c) Revenues associated with each point of market share
d) Trends in past and current revenues for industry and competitors
e) Possible cannibalization effects on other products in the line
Ans: d
Feedback: The SWOT analysis may require the following information: (1) trends in past and current revenues for industry and competitors in total and by segment, (2) future projections of revenues, expenses and profits for own product in total and by segment.
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24. Which of the following pieces of information is used in the second step of the planning phase of the strategic marketing process?
a) Corporate return on investment
b) Market potential studies
c) Revenues associated with each point of market share
d) Trends in past and current revenues for industry and competitors in total and by segment
e) Possible cannibalization effects on other products in the line
Ans: b
Feedback: Step 2 may require (1) market potential studies, (2) market-product grids, with ranked targets, (3) positioning studies.
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25. Which of the following pieces of information is used in the second step of the planning phase of the strategic marketing process?
a) Corporate return on investment
b) Market-product grids
c) Revenues associated with each point of market share
d) Trends in past and current revenues for industry and competitors in total and by segment
e) Possible cannibalization effects on other products in the line
Ans: b
Feedback: Step 2 may require (1) market potential studies, (2) market-product grids, with ranked targets, (3) positioning studies.
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26. Which of the following pieces of information is used in the second step of the planning phase of the strategic marketing process?
a) Corporate return on investment
b) Positioning studies
c) Revenues associated with each point of market share
d) Trends in past and current revenues for industry and competitors in total and by segment
e) Possible cannibalization effects on other products in the line
Ans: b
Feedback: Step 2 may require (1) market potential studies, (2) market-product grids, with ranked targets, (3) positioning studies.
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27. Which of the following pieces of information is used in the third step of the planning phase of the strategic marketing process?
a) Corporate return on investment
b) Marketing mix actions
c) Revenues associated with each point of market share
d) Trends in past and current revenues for industry and competitors in total and by segment
e) Possible cannibalization effects on other products in the line
Ans: b
Feedback: Step 3 may require characteristics and timing of marketing mix actions, (2) detailed plans to execute the marketing program.
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28. Which of the following pieces of information is used in the third step of the planning phase of the strategic marketing process?
a) Corporate return on investment
b) Detailed plans to execute the marketing program
c) Revenues associated with each point of market share
d) Trends in past and current revenues for industry and competitors in total and by segment
e) Possible cannibalization effects on other products in the line
Ans: b
Feedback: Step 3 may require characteristics and timing of marketing mix actions, (2) detailed plans to execute the marketing program.
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29. The marketing manager for Ocean Spray cranberry products is the team leader for each phase of the company's strategic marketing process. During the previous year, sales of cranberries in the United States did not meet expectations. Which of the following actions during the planning phase of the strategic marketing process would generate the required information for his team to develop the plans that define the goals and marketing mix strategies to be achieved for next year?
a) Generate a memo that clarifies each team member's responsibilities in the strategic marketing process
b) Conduct a situation (SWOT) analysis that identifies industry trends, analyzes competitors, assesses his own company and researches customers
c) Develop a new organizational chart that reflects the re-organization of the team if corrective actions are not successful in the upcoming year
d) Write action memos to try to correct problems and exploit opportunities
e) Define the tracking reports to enable results to be compared with the plan
Ans: b
Feedback: The first step of the planning phase is to conduct a SWOT analysis that identifies industry trends, analyzes competitors, assesses Ocean Spray and researches customers.
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30. During the planning phase of the strategic marketing process, the marketing manager will __________.
a) design the marketing organization
b) obtain resources
c) set market and product goals
d) develop marketing schedules
e) do all of the above
Ans: c
Feedback: During the planning phase the marketing manager conducts a SWOT analysis, sets market and product goals and develops the marketing program.
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31. Which of the following pieces of information is used in the implementation phase of the strategic marketing process?
a) Corporate return on investment
b) Memos assigning responsibilities for actions and deadlines
c) Revenues associated with each point of market share
d) Trends in past and current revenues for industry and competitors in total and by segment
e) Possible cannibalization effects on other products in the line
Ans: b
Feedback: The implementation phase may require (1) memos assigning responsibilities for actions and deadlines, Gantt charts, (2) organizational charts and job descriptions, (3) marketing research reports on sales, awareness and effectiveness.
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32. Which of the following pieces of information is used in the implementation phase of the strategic marketing process?
a) Corporate return on investment
b) Gantt charts
c) Revenues associated with each point of market share
d) Trends in past and current revenues for industry and competitors in total and by segment
e) Possible cannibalization effects on other products in the line
Ans: b
Feedback: The implementation phase may require (1) memos assigning responsibilities for actions and deadlines, Gantt charts, (2) organizational charts and job descriptions, (3) marketing research reports on sales, awareness and effectiveness.
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33. Which of the following pieces of information is used in the implementation phase of the strategic marketing process?
a) Corporate return on investment
b) Organizational charts and job descriptions
c) Revenues associated with each point of market share
d) Trends in past and current revenues for industry and competitors in total and by segment
e) Possible cannibalization effects on other products in the line
Ans: b
Feedback: The implementation phase may require (1) memos assigning responsibilities for actions and deadlines, Gantt charts, (2) organizational charts and job descriptions, (3) marketing research reports on sales, awareness and effectiveness.
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34. Which of the following pieces of information is used in the implementation phase of the strategic marketing process?
a) Corporate return on investment
b) Marketing research reports
c) Revenues associated with each point of market share
d) Trends in past and current revenues for industry and competitors in total and by segment
e) Possible cannibalization effects on other products in the line
Ans: b
Feedback: The implementation phase may require (1) memos assigning responsibilities for actions and deadlines, Gantt charts, (2) organizational charts and job descriptions, (3) marketing research reports on sales, awareness and effectiveness.
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35. Which of the following pieces of information is used in the evaluation phase of the strategic marketing process?
a) Corporate return on investment
b) Tracking reports measuring results of marketing actions
c) Revenues associated with each point of market share
d) Trends in past and current revenues for industry and competitors in total and by segment
e) Possible cannibalization effects on other products in the line
Ans: b
Feedback: The evaluation phase may require (1) tracking reports measuring results of the marketing actions, (2) action memos to correct problems and exploit opportunities.
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36. Which of the following pieces of information is used in the evaluation phase of the strategic marketing process?
a) Action memos to correct problems
b) Memos assigning responsibilities for actions and deadlines
c) Revenues associated with each point of market share
d) Trends in past and current revenues for industry and competitors in total and by segment
e) Possible cannibalization effects on other products in the line
Ans: b
Feedback: The evaluation phase may require (1) tracking reports measuring results of the marketing actions, (2) action memos to correct problems and exploit opportunities.
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37. Which of the following output reports is used in the planning phase of the strategic marketing process?
a) Marketing plans that define goals
b) Action memos that tell who is to do what
c) Action memos that tell who is to do what by when
d) Corrective action memos
e) All of the above are output reports of the planning phase of the strategic marketing process
Ans: a
Feedback: The planning phase produces an output report of marketing plans that define goals and the marketing mix strategies to achieve them.
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38. Which of the following output reports is used in the implementation phase of the strategic marketing process?
a) Marketing plans that define goals
b) Action memos that tell who is to do what
c) Action memos that tell who is to do what by when
d) Corrective action memos
e) All of the above are output reports of the implementation phase of the strategic marketing process
Ans: c
Feedback: The implementation phase provides output reports including action memos that tell who is to do what by when.
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39. Which of the following output reports is used in the evaluation phase of the strategic marketing process?
a) Marketing plans that define goals
b) Action memos that tell who is to do what
c) Action memos that tell who is to do what by when
d) Corrective action memos
e) All of the above are output reports of the evaluation phase of the strategic marketing process
Ans: d
Feedback: The evaluation phase provides corrective action memos, triggered by comparing results with plans, often from the firm's marketing dashboards and metrics.
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40. Typically, the __________ marketing plan covers marketing activities over a period of two to five years in the future. The __________ marketing plan which is highly structured and detailed is usually developed by a product manager and begins with marketing research and ends after 42 weeks with the approval of the division general manager.
a) annual; new product,
b) new product; long-range
c) long-range; new product
d) new product; annual
e) long-range; annual
Ans: e
Feedback: Long-range marketing plans cover marketing activities from two to five years into the future. Such plans are often directed at top-level executives and the board of directors. Usually developed by a marketing or product manager in a consumer products firm such as General Mills, annual marketing plans deal with marketing goals and strategies for a product, product line or entire firm for a single year.
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41. Marketing plans that cover marketing activities from two to five years into the future are called __________.
a) generic marketing strategies
b) long-range strategic plans
c) marketing strategies
d) long-range marketing plans
e) marketing tactics
Ans: d
Feedback: Long-range marketing plans cover marketing activities from two to five years into the future.
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42. With the exception of such industries as autos, steel or forest products, most long-range marketing plans cover a period of __________.
a) 6 to 8 months
b) 1 year
c) 2 to 5 years
d) 5 to 10 years
e) 20 years or longer
Ans: c
Feedback: Long-range marketing plans cover marketing activities from two to five years into the future.
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43. Annual __________ are documents that deal with the marketing goals and strategies for a product, product line or entire firm for a single year.
a) production estimates
b) sales forecasts
c) marketing plans
d) budget projections
e) tactical forecasts
Ans: c
Feedback: Annual marketing plans deal with marketing goals and strategies for a product, product line or entire firm for a single year.
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44. A(n) __________ is a business strategy that can be adopted by any firm, regardless of the product or industry involved, to achieve a competitive advantage.
a) generic business strategy
b) annual business plan
c) marketing strategy
d) long-range operating plan
e) marketing action program
Ans: a
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45. Which type of firm can use a generic business strategy?
a) Low-cost producers
b) Reseller
c) Discount firm
d) Consumer products firm
e) Any firm regardless of the product or industry
Ans: e
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46. Porter's generic business strategy shown in Figure 22-3, box "A" is called __________.
a) quality focus
b) cost leadership
c) differentiation
d) cost focus
e) differentiation focus
Ans: b
Page: 618, figure 22-4
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47. Porter's generic business strategy shown in Figure 22-3, box "B" is called __________.
a) quality focus
b) cost leadership
c) differentiation
d) cost focus
e) differentiation focus
Ans: c
Page: 618, figure 22-4
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48. Porter's generic business strategy shown in Figure 22-3, box "C" is called __________.
a) quality focus
b) cost leadership
c) differentiation
d) cost focus
e) differentiation focus
Ans: d
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49. Porter's generic business strategy shown in Figure 22-3, box "D" is called __________.
a) quality focus
b) cost leadership
c) differentiation
d) cost focus
e) differentiation focus
Ans: e
Page: 618, figure 22-4
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50. Based on relative competitive scope (broad target to narrow target) and source of competitive advantage (lower cost to differentiation), Porter's four generic business strategies are differentiation, cost focus, differentiation focus and __________.
a) exclusivity
b) electronic-focus
c) quality focus
d) cost leadership
e) service leadership
Ans: d
Feedback: Porter's four generic business strategies are differentiation, cost focus, differentiation focus and cost leadership.
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51. Based on relative competitive scope (broad target to narrow target) and source of competitive advantage (lower cost to differentiation), Porter's four generic business strategies are differentiation, cost focus, cost leadership and __________.
a) exclusivity
b) electronic-focus
c) quality focus
d) differentiation focus
e) service leadership
Ans: d
Feedback: Porter's four generic business strategies are differentiation, cost focus, differentiation focus and cost leadership.
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52. Based on relative competitive scope (broad target to narrow target) and source of competitive advantage (lower cost to differentiation), Porter's four generic business strategies are cost leadership, cost focus, differentiation focus and __________.
a) service leadership
b) diversification
c) reactive
d) differentiation
e) quality focus
Ans: d
Feedback: Porter's four generic business strategies are differentiation, cost focus, differentiation focus and cost leadership.
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53. Based on relative competitive scope (broad target to narrow target) and source of competitive advantage (lower cost to differentiation), Porter's four generic business strategies are cost leadership, differentiation, differentiation focus and __________.
a) diversification
b) service leadership
c) quality leadership
d) cost focus
e) competition-focus
Ans: d
Feedback: Porter's four generic business strategies are differentiation, cost focus, differentiation focus and cost leadership.
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54. According to Porter's four generic business strategies model, a __________ strategy requires a serious commitment to reducing expenses that, in turn, lowers the price of the items sold in a relatively broad array of market segments.
a) differentiation focus
b) cost focus
c) differentiation
d) cost leadership
e) supply focus
Ans: d
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55. Which of the following statements about cost leadership strategy is true?
a) Cost leadership strategy requires reducing expenses to lower the price of the items sold in a relatively broad array of market segments
b) Significant investments in capital equipment may be necessary to improve the production or distribution process to give low unit costs
c) The cost leader still must have adequate quality levels
d) Daiso, a Japanese chain of hundred-yen stores worldwide, is able to maintain its low-price, value-for money product strategy by developing its own range of niche products and selling them in large quantities, with over 1,000 new products introduced each month.
e) All of the above statements about cost leadrship strategy are true
Ans: e
Feedback: A cost leadership strategy requires a serious commitment to reducing expenses that in turn, lowers the price of the items sold in a relatively broad array of market segments. This commitment may require significant investments in capital equipment to produce reduced costs. The cost leader still must provide adequate quality levels.
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56. In the early 1900s, Henry Ford revolutionized the automobile industry by developing production lines and mass producing the Ford Model T automobile. By heavily reducing production costs, Henry Ford, Ford made the Model T quite affordable for the average American family. What business strategy did Henry Ford use to gain a competitive advantage in the automobile market?
a) Ford used a differentiation strategy
b) Ford used a cost focus strategy
c) Ford used a differentiation focus strategy
d) Ford used a cost leadership strategy
e) Ford used a limited production strategy
Ans: d
Feedback: A cost leadership strategy requires a serious commitment to reducing expenses that in turn, lowers the price of the items sold in a relatively broad array of market segments.
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57. Delphi Automobile Systems manufacturers and sells satellite communications systems for automobiles. This provides a significant and unique difference from the average automobile as Delphi Automobile Systems connects you and your car to 24-hour-a-day emergency service, directions to a destination and the opportunity to order a movie while on the road. Delphi Automobile Systems uses a(n)
a) Cost leadership strategy
b) Cost focus strategy
c) Differentiation strategy
d) Differentiation focus strategy
e) Innovation strategy
Ans: c
Feedback: A differentiation strategy requires products to have significant points of difference in product offerings, brand image, higher quality, advanced technology or superior service to charge a higher price while targeting a broad array of market segments.
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58. Many people are concerned about eating healthy, yet many of these same people still grab lunch at fast-food restaurants because the restaurants are convenient and they like beef. Burger King has created a veggie burger that "tastes like the real thing without all the fat". Burger King is using a __________ strategy to attract this large market that encompasses many different segments.
a) cost leadership strategy
b) cost focus strategy
c) differentiation strategy
d) differentiation focus strategy
e) service focus strategy
Ans: c
Feedback: A differentiation strategy requires products to have significant points of difference in product offerings, brand image, higher quality, advanced technology or superior service to charge a higher price while targeting a broad array of market segments.
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59. According to Porter's four generic business strategies model, a __________ strategy requires innovation and significant points of difference in product offerings, brand image, higher quality, advanced technology or superior service to charge a higher price while targeting a relatively broad array of market segments.
a) differentiation focus
b) cost focus
c) differentiation
d) cost leadership
e) innovative leadership
Ans: c
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60. Reality television shows are televised nearly every night of the week. Most show how individuals live and compete in unfamiliar groups and surroundings. One has pairs of contestants competing against each other. UPN network developed a novel approach to reality programming by creating a show that pitted stereotypical U.S. families (father, mother and two children) against other families. By focusing on family dynamics instead of individuals, UPN hoped to have an across-the-board appeal to all segments with its unique show. UPN was using a(n) __________ strategy to attract viewers.
a) differentiation focus
b) cost focus
c) differentiation
d) cost leadership
e) innovative leadership
Ans: c
Feedback: A differentiation strategy requires products to have significant points of difference in product offerings, brand image, higher quality, advanced technology or superior service to charge a higher price while targeting a broad array of market segments. This is the strategy UPN is pursuing. In contrast, a differentiation focus strategy utilizes significant points of difference to one or only a few market segments.
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61. According to Porter's four generic business strategies model, a __________ strategy involves controlling expenses and, in turn, lowering prices targeted at a narrow range of markets.
a) differentiation focus
b) cost focus
c) differentiation
d) revenue leadership
e) profit enhancement

Ans: b
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62. Budget airlines like AirAsia have also been successful in offering low-cost flights to select destinations within Asia. AirAsia uses a(n) __________ strategy.
a) differentiation focus
b) cost focus
c) differentiation
d) revenue leadership
e) profit enhancement
Ans: b
Feedback: According to Porter's four generic business strategies model, a cost focus strategy involves controlling expenses and, in turn, lowering prices in a narrow range of markets.
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63. According to Porter's four generic business strategies model, a __________ strategy utilizes significant points of difference to one or only a few market segments.
a) differentiation focus
b) cost focus
c) differentiation
d) cost leadership
e) profit enhancement
Ans: a
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64. Hard Candy is a cosmetics company that markets the Palm Palette—all the make-up a "girl-on-the-go" needs without a cumbersome make-up bag. It comes in three shades—glam, funky and girlies. Hard Candy targets women who are slightly over their twenties. Which one of Porter's generic business strategies does Hard Candy use?
a) Differentiation focus
b) Cost focus
c) Differentiation
d) Cost leadership
e) Profit enhancement
Ans: a
Feedback: According to Porter's four generic business strategies model, a differentiation focus strategy utilizes significant points of difference to one or only a few market segments—the situation with Hard Candy.
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65. Hyundai Motor America (HMA) became the first automaker to offer consumers an Internet parts ordering system. The system was targeted only to current Hyundai owners and gave Hyundai the ability to collect a vast amount of customer data about people who buy its cars. Which of Porter's generic business strategies did Hyundai use when it launched its website?
a) Cost leadership
b) Differentiation
c) Differentiation focus
d) Cost focus
e) Marketing focus
Ans: c
Feedback: A differentiation focus strategy utilizes significant points of difference to one or only a few market segments.
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66. Volkswagen achieved spectacular success in the late 1990s by targeting the "nostalgia" segment, 35- to 54-year-old baby boomers, with its technology-laden New Beetle. Which of Porter's generic business strategies did Volkswagen use to launch the New Beetle?
a) Cost leadership
b) Differentiation
c) Differentiation focus
d) Cost focus
e) Marketing focus
Ans: c
Feedback: A differentiation focus strategy utilizes significant points of difference to one or only a few market segments.
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67. Which market-product strategies do NOT require product changes?
a) Market development and market penetration
b) Market development and diversification
c) Market penetration and product development
d) Diversification and market penetration
e) Diversification and product development
Ans: a
Feedback: Market penetration is increasing the sales of present products in existing markets and market development is selling existing products in new markets. Neither of these requires new products. This is also shown in Fig. 22-5.

Page: 620

Learning Objective: 2

68. Chowking quick-service restaurant franchise becomes a market leader in selling Filipino Food in the Philippines, and the restaurants can be found over 300 locations. This franchise is adopting the business strategy of __________.
a) market penetration
b) market development
c) product development
d) diversification
e) market divestment
Ans: a
Feedback: Market penetration is the marketing strategy of increasing sales of present products in existing markets. Chowking quick-service restaurants followed a successful strategy of market penetration (present markets, present products) by concentrating on becoming a market leader in selling its present products in its food products in the Filipino market, garnering multiple local awards, including Most Outstanding Filipino Food Franchise. Its restaurants can be found at some 300 locations in the Philippines.
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69. Which market-product strategy requires no change in the product line but an increase in sales to existing customers through better advertising, more retail outlets or lower prices or more effective distribution?
a) Market development
b) Market penetration
c) Product development
d) Diversification
e) Product divestment
Ans: b
Feedback: Market penetration is the marketing strategy of increasing sales of present products in existing markets.
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70. Many people enjoy cereal at breakfast. Cereal manufacturers who promote cereal as a great late-night snack to the group of people who enjoy cereal at breakfast would be using a __________ strategy.
a) market penetration
b) product development
c) differentiation
d) diversification
e) differentiation focus
Ans: a
Feedback: Market penetration is the marketing strategy of increasing sales of present products in existing markets. Cereal manufacturers would be targeting current markets with current products, a market penetration strategy.
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71. Procter & Gamble has followed a successful strategy of __________ by concentrating its effort on becoming the market leader in each of its more than 30 product categories.
a) market penetration
b) product development
c) differentiation
d) diversification
e) differentiation focus
Ans: a
Feedback: Market penetration is the marketing strategy of increasing sales of present products in existing markets. P & G targets the present markets with present products or a market penetration strategy.
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72. Assume McDonald's is engaging in a market penetration strategy. Which of the following actions best illustrates a market penetration strategy?
a) Opening the first McDonald's in China
b) Developing a line of McDonald's toys to be sold through Toys R Us stores
c) Adding a line of new deli sandwiches to the menu of existing McDonald's stores
d) Running a promotion based on the Monopoly game, whereby customers have a chance to win prizes with each purchase
e) Removing slow-moving products from its menus
Ans: d
Feedback: Market penetration is the marketing strategy of increasing sales of present products in existing markets. The Monopoly promotion involves selling more of McDonald's existing menu to its present customers by encouraging more visits to the restaurant, a market penetration strategy.
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73. For several years, advertisements for Arm & Hammer baking soda have prompted consumers to place an opened box of the product in the refrigerator to lessen food odor and to replace that box monthly. The same ads advise customers to pour the used box down their kitchen sinks to freshen drains. Arm & Hammer employed a __________ strategy in its attempt to sell more baking soda.
a) market penetration
b) market development
c) product development
d) diversification
e) product penetration
Ans: a
Feedback: Market penetration is the marketing strategy of increasing sales of present products in existing markets. Arm & Hammer is attempting to sell more of their present product in current markets. The company is not creating new products nor are they seeking new markets for their product. They are attempting to create new uses for their product within existing markets.
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74. Which market-product strategy requires no change in the product but requires a company to seek out new customers in new markets?
a) Market penetration
b) Market development
c) Product development
d) Diversification
e) All of the above
Ans: b
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75. Recently American Express, Visa and MasterCard have been pushing hard into the small-ticket end of the credit card market. The purchase of items such as fast food meals, movie popcorn and candy have been targeted as growth areas for credit card usage. This is an example of a __________ strategy on the part of the credit card companies.
a) market penetration
b) market development
c) product development
d) diversification
e) product dissemination
Ans: b
Feedback: Market development is the process of taking present products to new markets.
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76. Gulfstream Aerospace Corp. engaged in a __________ strategy when it sold 3 Gulfstream V business jet aircraft to the Israeli Ministry of Defense for use as Special Electronic Mission Aircraft. This was Gulfstream's first sale to a Middle Eastern country.
a) market penetration
b) market development
c) product development
d) diversification
e) product dissemination
Ans: b
Feedback: Market development is the process of taking present products to new markets.
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77. Assume McDonald's is engaging in a market development strategy. Which of the following actions best illustrates a market development strategy?
a) Opening the first McDonald's in China
b) Developing a line of McDonald's toys to be sold through Toys R Us stores
c) Adding a line of new deli sandwiches to the menu of existing McDonald's stores
d) Running a promotion based on the Monopoly game, whereby customers have a chance to win prizes with each purchase
e) Giving coupons for free fries for later use when the customer purchases a Big Mac
Ans: a
Feedback: Market development is the process of taking present products to new markets. Opening a McDonald's is taking the present product (menu and restaurant) to a new market (China), a market development strategy.
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78. Mall of America hopes to increase traffic in the shopping center by offering free lunches to children in Mall restaurants on Tuesdays. This promotion is directed to families who currently do not shop at the mall. This is an example of the implementation of a __________ strategy.
a) market penetration
b) market development
c) product development
d) diversification
e) market divestiture
Ans: b
Feedback: Market development is the process of taking present products to new markets.
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79. When Walt Disney Co. opened new theme parks in Paris, Tokyo and Hong Kong, it was using a ___________ strategy.
a) market penetration
b) product development
c) differentiation
d) diversification
e) market development
Ans: e
Feedback: Market development is the process of taking present products to new markets. Walt Disney Company targets new markets with its present product, theme parks; it uses a market development strategy.
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80. Which market-product strategy involves selling a new product to existing markets?
a) Market penetration
b) Market development
c) Divestment
d) Diversification
e) Product development
Ans: e
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81. Matsura Industries distributes candy and coffee through its vending machines in Tokyo. The addition of sandwich vending machines to the same market is an example of a __________ strategy.
a) market penetration
b) market development
c) product development
d) diversification
e) divestment
Ans: c
Feedback: Product development is a market-product strategy that sells a new product to existing markets.
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82. Transportation Safety Technologies, Inc. originally produced and sold safety devices to make the trucking industry safer especially on long hauls across North America. It soon realized that transporting goods across U.S. borders by truck was expensive and time-consuming for the truckers. Dozens of government agency approvals and costly downtime hamper the process. Transportation Safety Technologies, Inc., then began providing its trucking companies with International Trade Data Systems (ITDS). This new type of system stores information about each shipment in a centralized database, which can be accessed at border checkpoints and eliminate the need for costly manual inspections. This is an example of the implementation of a __________ strategy.
a) market penetration
b) market development
c) divestment
d) diversification
e) product development
Ans: e
Feedback: Product development is a market-product strategy that sells a new product (a new information system) to existing markets (truckers).
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83. Which of the following actions best illustrates a product development strategy for McDonald's?
a) Opening the first McDonald's in China
b) Developing a line of McDonald's toys to be sold through Toys R Us stores
c) Adding a line of new deli sandwiches to the menu of existing McDonald's stores
d) Running a promotion based on the Monopoly game, whereby customers have a chance to win prizes with each purchase
e) Opening McDonald's restaurants in Six Flags theme parks
Ans: c
Feedback: The deli sandwiches (a new product) involve a new product for present restaurant customers, a product development strategy. (A secondary, minor effect might be to attract new customers.)
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84. When Johnson & Johnson develops complementary products to its existing product line, such as Tylenol PM it is appealing to its current market with a new product, using a ___________ strategy.
a) market penetration
b) product development
c) differentiation
d) diversification
e) market development
Ans: b
Feedback: Johnson & Johnson uses a product development strategy when it targets its present customers with new products.
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85. Which of the following actions would best illustrate a diversification strategy for McDonald's?
a) Opening the first McDonald's in China
b) Developing a line of McDonald's toys to be sold through Toys R Us stores
c) Adding a line of new deli sandwiches to the menu of existing McDonald's stores
d) Running a promotion based on the Monopoly game, whereby customers have a chance to win prizes with each purchase
e) Giving coupons for free fries for later use when the customer purchases a Big Mac
Ans: b
Feedback: Selling McDonald's toys sold through Toys R Us stores involves selling new products (toys) to new (toy) customers, a diversification strategy. Even though many of these people may have eaten at a McDonald's restaurant, the company leaves the restaurant business and goes into the toy marketing business, which is a new business for McDonald's.
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86. Which market-product strategy requires a company to both develop new products and seek out new markets?
a) Market penetration
b) Market development
c) Product development
d) Diversification
e) Divestment
Ans: d
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87. As shown in Figure 22-4 above, General Mills is practicing a __________ strategy for Cheerios by stressing the cereal's cholesterol-lowering benefit in a broad band across the front of the package.
a) differentiation
b) market penetration
c) market development
d) product development
e) diversification
Ans: b
Feedback: Market penetration is a marketing strategy of increasing sales of present products (Cheerios) in existing markets.
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88. As shown in Figure 22-4 above, General Mills is part of a joint venture with Cereal Partners Worldwide, which introduced Cini Minis to Polish consumers. General Mills is practicing a __________ strategy by introducing the American cereal known as Cinnamon Toast Crunch to Europeans.
a) differentiation
b) market penetration
c) market development
d) product development
e) diversification
Ans: c
Feedback: Market development is a marketing strategy of selling existing products (Cinnamon Toast Crunch) to new markets (Polish consumers).
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89. As shown in Figure 22-4 above, General Mills is practicing a __________ strategy by leveraging its joint venture with Curves International, a fitness center chain serving American women, to introduce its Curves chewy granola bar.
a) differentiation
b) market penetration
c) market development
d) product development
e) diversification
Ans: d
Feedback: Product development is a marketing strategy of selling new products (Curves chewy granola bar) to existing markets (American women).
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90. As shown in Figure 22-4 above, General Mills is practicing a __________ strategy by introducing 8th Continent Soymilk.
a) differentiation
b) market penetration
c) market development
d) product development
e) diversification
Ans: e
Feedback: Diversification is a marketing strategy of developing new products (soymilk drink) and selling them in new markets (milk-substitute market).
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91. Two kinds of synergy are critical in developing corporate and marketing strategies: 1) marketing synergy and 2) _________. 
a) value-based synergy
b) sales response synergy
c) R&D- manufacturing synergy
d) point of difference synergy
e) value-added efficiency
Ans: c
Feedback: Using the market-product grid framework introduced in Chapter 9, we can see two kinds of synergy that are critical in developing corporate and marketing strategies: (1) marketing synergy and (2) R&D–manufacturing synergy. 
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92. The market-product grid __________.
a) shows the fastest areas of industry growth
b) enumerates all possible competitive firms
c) helps identify important trade-offs in the strategic marketing process.
d) pinpoints alternatives and uncertainties
e) lists market segments and market shares
Ans: c
Feedback: A market-product grid shows marketing synergies horizontally across the rows and R&D-production synergies vertically down the columns. Thus, it helps identify important trade-offs in the strategic marketing process. 
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93. Loving Care Pets manufactures dog food specifically created for puppies under three months of age. In terms of the market-product grid framework, Loving Care Pets is a small firm without sustainable comparative advantages in marketing or production resources and the most likely strategy to ensure Loving Care Pets' success would be described as __________.
a) market-product concentration
b) market specialization
c) product specialization
d) selective specialization
e) full coverage
Ans: a
Feedback: Loving Care Pets is marketing a single product to a single market segment or market-product concentration.
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94. Loving Care Pets manufactures food for dogs, cats, rabbits and gerbils specifically created for pets under three months of age. Assuming it is marketing to a single segment of "pet owners", in terms of the market-product grid framework, Loving Care Pets is using a __________ strategy.
a) market-product concentration
b) market specialization
c) product specialization
d) selective specialization
e) full coverage
Ans: b
Feedback: Loving Care Pets is marketing multiple products (pet foods for various animals under 3 months old) to a single market segment (pet owners) or market-specialization.
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95. Loving Care Pets manufactures food for dogs, cats, rabbits and gerbils specifically created for pets under three months of age. In terms of the market-product grid framework, adding a line of pet food for mature dogs, cats, rabbits and gerbils will result in a __________ strategy that will provide Loving Care Pets with relatively high economies of scale in marketing.
a) market product concentration
b) market specialization
c) product specialization
d) selective specialization
e) full coverage
Ans: b
Feedback: Multiple products marketed to the same market segment will result in marketing synergies (horizontally across rows in a market-product grid), in this case, market specialization for Loving Care Pets.
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96. Which marketing strategy focuses its efforts on a single product line and market segment?
a) Full coverage
b) Market specialization
c) Product specialization
d) Selective specialization
e) Market-product concentration
Ans: e
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97. Which marketing strategy focuses on a single market segment but adds additional product lines?
a) Full coverage
b) Market specialization
c) Product specialization
d) Selective specialization
e) Market-product concentration
Ans: b
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98. Which marketing strategy would most likely offer the greatest economies of scale in marketing costs?
a) Market-product concentration
b) Market specialization
c) Product specialization
d) Selective specialization
e) Product specialization and selective specialization
Ans: b
Feedback: Marketing synergies or economies of scale run horizontally across the rows of a market-product grid; adding new products for a given market segment represents few new marketing expenses but sizable new R&D and production expenses.
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99. Which marketing strategy involves retaining focus on a single product line but marketing it to new markets?
a) Full coverage
b) Market specialization
c) Product specialization
d) Selective specialization
e) Market-product concentration
Ans: c
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100. Which marketing strategy involves targeting separate product lines for unique separate segments?
a) Full coverage
b) Market specialization
c) Product specialization
d) Selective specialization
e) Market-product concentration
Ans: d
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101. Which marketing strategy will offer all product lines in all markets?
a) Full coverage
b) Market specialization
c) Product specialization
d) Selective specialization
e) Market-product concentration
Ans: a
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102. What is the primary disadvantage of employing a selective specialization strategy?
a) Gaining market distribution will be costly
b) The organization may be spread too thin
c) The organization cannot achieve either marketing or manufacturing synergies
d) R & D–manufacturing have the difficulty of producing multiple new lines
e) The organization cannot take advantage of marketing or manufacturing synergies available to it through market or product specialization
Ans: c
feedback: With selective specialization the firm doesn't get either marketing or R&D—manufacturing synergies because of the uniqueness of the market-product combinations.
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103. What is the primary disadvantage of employing a product specialization strategy?
a) Gaining market distribution will be costly
b) The organization may be spread too thin
c) The organization cannot achieve either marketing or manufacturing synergies
d) R & D–manufacturing have the difficulty of producing multiple new lines
e) The organization cannot take advantage of marketing or manufacturing synergies available to it through market or product specialization
Ans: a
Feedback: With product specialization the firm gains R&D—manufacturing synergy but gaining market distribution is costly.
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104. What is the primary disadvantage of employing a market specialization strategy?
a) Gaining market distribution will be costly
b) The organization may be spread too thin
c) The organization cannot achieve either marketing or manufacturing synergies
d) R & D–manufacturing have the difficulty of producing multiple new lines
e) The organization cannot take advantage of marketing or manufacturing synergies available to it through market or product specialization
Ans: d
Feedback: With market specialization the firm gains marketing synergy but R&D—manufacturing has the difficulty of developing and producing multiple products.
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105. What is the primary disadvantage of employing a market-product concentration strategy?
a) Gaining market distribution will be costly
b) The organization may be spread too thin
c) The organization cannot achieve either marketing or manufacturing synergies
d) R & D–manufacturing have the difficulty of producing multiple new lines
e) The organization cannot take advantage of marketing or manufacturing synergies available to it through market or product specialization
Ans: e
Feedback: This strategy loses opportunities for significant synergies in both marketing and R&D--manufacturing.

Page: 621-622

Learning Objective: 2

106. What is the primary disadvantage of employing a full coverage strategy?
a) Gaining market distribution will be costly
b) The organization may be spread too thin
c) The organization cannot achieve either marketing or manufacturing synergies
d) R & D–manufacturing have the difficulty of producing multiple new lines
e) The organization cannot take advantage of marketing or manufacturing synergies available to it through market or product specialization
Ans: b
Feedback: With full coverage the firm may be spread too thin because of the resource requirements needed to reach all market-product combinations.
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107. In Figure 22-6 above, the box labeled "A" illustrates which of the following market-product strategies?
a) Full coverage
b) Market specialization
c) Product specialization
d) Selective specialization
e) Market-product concentration
Ans: e
Feedback: Market-product concentration is a strategy where one product is offered to one market.
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108. In Figure 22-6 above, the box labeled "B" illustrates which of the following market-product strategies?
a) Full coverage
b) Market specialization
c) Product specialization
d) Selective specialization
e) Market-product concentration
Ans: b
Feedback: Market specialization is a strategy where several products are offered to one market.
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109. In Figure 22-6 above, the box labeled "C" illustrates which of the following market-product strategies?
a) Full coverage
b) Market specialization
c) Product specialization
d) Selective specialization
e) Market-product concentration
Ans: c
Feedback: Product specialization is a strategy where one product is offered to several markets.
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110. In Figure 22-6 above, the box labeled "D" illustrates which of the following market-product strategies?
a) Full coverage
b) Market specialization
c) Product specialization
d) Selective specialization
e) Market-product concentration
Ans: d
Feedback: Selective specialization is a strategy that offers a unique product to a unique market.
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111. In Figure 22-6 above, the box labeled "E" illustrates which of the following market-product strategies?
a) Full coverage
b) Market specialization
c) Product specialization
d) Selective specialization
e) Market-product concentration
Ans: a
Feedback: A full coverage strategy offers multiple products to multiple markets.
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112. Ideally, in effective marketing planning, goals should be __________ in terms of what is to be accomplished and when.
a) loose and vague
b) as general as possible
c) flexible or elastic
d) achievable and measurable
e) none of the above
Ans: d
feedback: Goals should be achievable and measurable. For example, "Increase market share from 18 to 22 percent by December 31, 2005".
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113. The more a marketing plan is based on __________, rather than guesses, the less uncertainty and fewer risks are associated with executing it.
a) industry forecasts and sales predictions
b) intuitions and forecasts
c) past historical data
d) facts and valid assumptions
e) contingencies
Ans: d
Feedback: To develop effective marketing plans, use a base of facts and valid assumptions.
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114. Marketing plans must enable results to be compared with planned targets which allows __________, the flexibility to update original plans.
a) replanning
b) contingency planning
c) downsizing
d) dynamic planning
e) proactive change
Ans: a
Feedback: Events change, so replanning—the flexibility to alter the original plans based on recent results—is necessary.
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115. Which of the following is a potential problem that could occur in the planning phase of a firm's strategic marketing process?
a) Plans are based on poor assumptions
b) Planners and their plans may have lost sight of their customers' needs
c) Too much time and effort may have been spent on analysis of data
d) Responsibility for planning and strategy development may be assigned to planners so that line operating managers feel no sense of ownership in implementing plans
e) All of the above are potential problems that could occur in the planning phase of a firm's strategic marketing process.
Ans: e
Feedback: Planning problems can be caused by: (1) plans based on very poor assumptions about environmental factors; (2) planners and their plans may have lost sight of their customers' needs; (3) too much time and effort may be spent on data collection and writing the plans; (4) line operating managers often feel no sense of ownership in implementing the plans.

Page: 624

Learning Objective: 3

116. General Mills is concerned both with selling its products and brands in countries around the world and also obtaining ideas for new products from anyone, anywhere who has a great product or technology. This example shows that General Mills is following a __________ strategy.
a) market penetration
b) market development
c) product development
d) selective specialization
e) diversification
Ans: b
Feedback: Diversification is a marketing strategy of developing new products and selling them in new markets.
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117. __________ combines marketing planning ideas and financial planning techniques to assess how much a division or strategic business unit (SBU) contributes to the price of a company's stock.
a) A value-driven strategy
b) Value-based planning
c) Value analysis
d) A market audit
e) Value-added marketing
Ans: b
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118. Which of the following is a typical objective for value-based planning?
a) Ethics
b) Integrity
c) Employee health and safety
d) Shareholder wealth
e) All of the above are typical objectives for value-based planning
Ans: d
Feedback: Value-based planning combines marketing planning ideas and financial planning techniques to assess how much a division or strategic business unit (SBU) contributes to the price of a company's stock (or shareholder wealth). Value is created when the financial return of a strategic activity exceeds the cost of the resources allocated to the activity.
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119. __________ incorporate concerns for ethics, integrity, employee health and safety and environmental safeguards with more common corporate values such as growth, profitability, customer service and quality.
a) Value-driven strategies
b) Value-based planning
c) Value analyses
d) Market audits
e) Value-added marketing tactics
Ans: a
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120. Ben & Jerry's Homemade, Inc. is a profitable company that has a reputation for quality. The company is committed to treating its employees fairly and acting ethically in all transactions. It seeks to purchase all of its supplies from socially responsible suppliers. It is a leader in protecting the environment and corporate philanthropy. Ben & Jerry's uses __________.
a) value-driven strategies
b) service-based planning
c) value analyses
d) value-based planning
e) value-added marketing tactics
Ans: a
Feedback: Value-driven strategies—what Ben & Jerry's Homemade is using—incorporate concerns for ethics, integrity, employee health and safety and environmental safeguards with more common corporate values such as growth, profitability, customer service and quality.
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121. Which of the following statements about Big G's global search for products and markets is true?
a) General Mills is not only concerned with selling its products globally but also in finding product ideas from around the world
b) A recent product of Big G's originated with Hong Kong's dumpling queen
c) Wanchai Ferry foods are not refrigerated and this presented a technical challenge for Big G
d) Wanchai Ferry foods are targeted to American consumers
e) All of the above statements are true
Ans: e
Feedback: General Mills is not only concerned with selling its product globally but also in finding product ideas from around the world. Now known as Hong Kong's dumpling queen, Madame Kin Wo Chong started selling her dumplings in 1977 from a cart on the city's Wanchai Ferry pier. The technical challenge with the dumplings was to keep the ingredients fresh because the kits aren't refrigerated or frozen. General Mills hopes Madame Chong's kits will take advantage of the popularity of Chinese food among Americans.
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122. In considering both the effectiveness of (1) a marketing plan and (2) its implementation, the "disaster" combination is __________.
a) good planning, good implementation
b) good planning, bad implementation
c) bad planning, good implementation
d) bad planning, bad implementation
e) can't tell; depends on the stage of the product life cycle
Ans: d
Feedback: The "disaster" combination involves both bad planning and bad implementation because two problems have to be fixed—compared to only one problem with alternatives b and c. Stage of the product life cycle is irrelevant.
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123. For Singapore Airlines, the implementation of its strategies involved careful attention to details. The success and profitability of Singapore Airlines is attributed as much to its implementation of its strategies as to _____________
a) the effectiveness of its strategies
b) the cooperation of the staff 
c) the reputation of the company
d) the feedback from the customers
e) none of the above
Ans: a
Feedback: The success and profitability of Singapore Airlines is attributed as much to its implementation of its strategies as to the effectiveness of its strategies.
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124. The reformulation of the original Coca-Cola (now Coca-Cola Classic) recipe to a new one (eventually called New Coke) was one of the biggest decisions in the firm's history. Coke was trying to respond to Pepsi's gain in market share with the introduction of its new formulation. When it was put on the supermarket shelves, all Coke made with the original formulation was removed at the same time. This action was perceived as deceptive on the part of Coke by its loyal customers. The spread of ill will among loyal original Coca-Cola customers after Coke announced the change in its formula is an example of __________.
a) appropriate planning and effective implementation
b) appropriate planning and ineffective implementation
c) inappropriate strategy and effective implementation
d) inappropriate strategy and ineffective implementation
e) diversification
Ans: b
Feedback: As defined in the question, the strategy was good. Coke needed to respond to Pepsi's gains. The "surprise" withdrawal and perceived deception were faulty implementation and alienated loyal Coke customers.
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125. As the marketing manager for Acme Products Inc., you just became the new program leader for Baubles, a product Acme introduced last year. Initial sales far exceeded expectations. In response, the previous program leader decided to reduce the profit margins for channel members to more quickly recover the high costs incurred in the development of the Baubles product and its marketing program. Unfortunately, sales of Acme Baubles declined by 2 percent while its market share declined by 7 percent as new competitors entered the market. After conducting a customer survey, you conclude customers were generally satisfied with Acme's Baubles. However, Baubles were not as readily accessible as they were the previous year. Furthermore, after conducting a survey among the leading wholesalers and retailers of Acme Baubles, you discover they were not pleased with the reduced margins. Moreover, because Acme's principal competitors offered them greater margins, they gave the competitors' products competing with Baubles better service and shelf space than Acme's. This is an example of __________.
a) an appropriate marketing strategy and effective implementation
b) an inappropriate marketing strategy but effective implementation
c) an appropriate marketing strategy but ineffective implementation
d) an inappropriate marketing strategy and ineffective implementation
e) an appropriate marketing strategy and effective control
Ans: c
Feedback: All elements of the marketing mix were satisfactory to customers (an appropriate marketing strategy); however, during the execution of the marketing program, Acme reduced the profit margins to its channel members (poor execution). This implementation decision by Acme caused its channel members to support the product much less vigorously as they had the previous year by providing less service and less favorable shelf space. These actions reduced Acme Bauble sales and market share.
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126. In Asia, following participatory Japanese management practices, many companies have encouraged employees to form quality control circles (QCCs) or work improvement teams (WITs) to discuss ideas for cost reduction or for improvements of quality and work processes. This is an example of how __________ can improve the implementation of marketing programs.
a) rewarding successful program implementation
b) fostering open communication to surface problems
c) taking action and avoiding paralysis by analysis
d) focusing on market diversification strategies
e) having accomplished all the above

Ans: b
Feedback: Success often lies in fostering a work environment that is open enough so employees are willing to speak out when they see problems without fear of recrimination. The focus is placed on trying to solve the problem as a group rather than finding someone to blame.
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127. Every employee at Banyan Tree, from the porters, receptionists, chambermaids, waiters, and chefs, to the masseurs, beauty consultants, and reflexologists, are briefed regarding the company’s brand message: romance, intimacy, and rejuvenation. This is an example of how __________ can improve the implementation of marketing programs.
a) rewarding successful program implementation
b) communicating goals and the means of achieving them 
c) fostering open communication to surface problems
d) focusing on market diversification strategies
e) having accomplished all the above
Ans: b
Feedback: Those called on to implement plans need to understand both the goals sought and how they are to be accomplished. Employees at Banyan Tree are trained in their daily service routines to deliver these three areas of customer experience. This is an example of how communicating goals and the means of achieving them can improve the implementation of marketing programs.
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128. Which of the following is NOT a managerial practice designed to improve the implementation of marketing programs?
a) Be sure that all those working for the firm understand both the goals sought and how they are to be accomplished
b) Analyze, design, test and retest the marketing program solutions to get it right the first time to avoid costly "fix-its" during the implementation
c) Communicate marketing goals to each team member so each knows the goals sought and how they are to be accomplished
d) Reward successful marketing program implementation by giving team members bonuses, recognition awards, promotions, etc
e) Have a product or program champion who is both willing and able to move the marketing program forward
Ans: b
Feedback: Organizations should take action and avoid the "paralysis by analysis" approach that excessively analyzes problems. Instead, a "do it, fix it, try it" approach that lets customers help refine the marketing program during the implementation phase may be a more cost-effective method. Communicating marketing goals and using a program champion are also important.
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129. A __________ is a person within a firm who is able and willing to cut red tape and move a product or program forward.
a) channel captain
b) marketing mediator
c) program director
d) product champion
e) program facilitator
Ans: d
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130. Edwin H. Land, former CEO of Polaroid, took personal responsibility for technological innovation at Polaroid. On the other hand, Lewis Platt, CEO of Hewlett-Packard, believed senior management's role is to create an environment that encourages managers to take risk and create new growth opportunities. Which of the following statements describes the actions of these men?
a) Both Land and Platt were product champions
b) Platt was a product champion and Land was not
c) Land was a product champion and Platt was not
d) Neither Platt nor Land was a product champion
e) Land believed in encouraging others to act as product champions and Platt did not
Ans: c
Feedback: Land was a product champion--able and willing to cut red tape and move a program forward. Platt wanted to create an environment in which product champions were able to appear. He did this by creating autonomous entrepreneurial divisions.
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131. Which statement best reflects the advice given by management experts regarding the tendency to excessively analyze a problem?
a) Don't put a product on the market until it's perfect
b) Try a "do it, fix it, try it", approach
c) If a problem arises, assemble a committee of the appropriate people to solve it
d) Better to ask forgiveness than permission
e) Avoid the NIH syndrome
Ans: b
Feedback: Management experts warn against paralysis by analysis, the tendency to excessively analyze a problem instead of taking action. To overcome this pitfall they call for a "bias for action" and recommend a "do it, fix it, try it" approach.
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132. Management experts warn against the tendency to excessively analyze a problem instead of taking action. This problem is called __________.
a) dumb and dumber
b) paralysis by analysis
c) fits and starts
d) letting sleeping dogs lie
e) do-nothingism
Ans: b
Feedback: Paralysis by analysis is the tendency to excessively analyze a problem instead of taking action.
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133. A(n) __________ is an aid to implementing a marketing plan and consists of four columns. They are the task, the name of the person responsible for accomplishing the task, the date by which the task is to be finished and (4) what is to be delivered.
a) marketing action memo
b) job analysis
c) Gantt chart
d) program schedule
e) action item list
Ans: e
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134. An action item list has four columns that show the task, __________, what is to be delivered and the date by which the task is to be finished.
a) the name of the person responsible for accomplishing that task
b) the departments involved in the project
c) suppliers, agencies or consultants who will be working on the project
d) the start date of the project
e) the budget for the project
Ans: a
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135. The four columns of an action item list contain information about the __________.
a) procedure, its deadline, what is to be delivered and its budget
b) task, the procedure, what is to be delivered and the budget
c) budget, the person responsible, what is to be delivered and the evaluation process
d) person responsible, the task, what is to be delivered and the procedure
e) task, the person responsible, what is to be delivered and the deadline
Ans: e
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136. Action item lists do which of the following?
a) Serves as the starting agenda for the next meeting
b) Are forward looking
c) Clarify the targets
d) Put pressure on people to achieve their designated tasks by the deadline
e) Action item lists do all of the above
Ans: e
Feedback: The action item list serves as the starting agenda for the next meeting. Action item lists are forward looking, clarify the targets and put strong pressure on people to achieve their designated tasks by the deadline.
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137. Action item lists are most similar to __________.
a) product-market strategic assignments
b) job analyses
c) sales response functions
d) value analyses
e) program schedules
Ans: e
Feedback: Action item lists are related to formal program schedules, which show the relationships through time of the various program tasks.
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138. __________ show the relationships through time of the various program tasks.
a) Product-market strategic assignments
b) Job analyses
c) Sales response functions
d) Value analyses
e) Program schedules
Ans: e
Feedback: Action item lists are related to formal program schedules, which show the relationships through time of the various program tasks.
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139. Which of the following is NOT a step in developing program schedules such as Gantt charts?
a) Identify the main tasks
b) Assign responsibilities to complete each task
c) Determine how long it will take to complete each task
d) Determine how much it will cost to finish the task on time
e) Arrange the activities to meet the deadline
Ans: d
Feedback: Program schedules show the relationships through time of the various program tasks. Scheduling an action program involves: (1) identifying the main tasks, (2) determining the time required to complete each, (3) arranging the activities to meet the deadline and (4) assigning responsibilities to complete each task.
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140. The key to all scheduling techniques is to __________.
a) avoid scheduling tasks that can be done concurrently
b) avoid tasks that must be done sequentially
c) make sure to allow a 20 percent delay factor to account for contingencies
d) distinguish tasks that must be done sequentially from those which can be done concurrently
e) assign responsibility for end results to the entire group rather than a single individual
Ans: d
Feedback: Effective scheduling requires that sequential tasks be distinguished from concurrent tasks, the latter permitting tasks to "overlap" in the schedule. The key to all scheduling techniques is to distinguish tasks that must be done sequentially from those that can be done concurrently.
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141. Which of the following tasks shown in Figure 22-8 can be done concurrently?
a) 1 and 2
b) 2 and 3
c) 1 and 3
d) 4 and 5
e) 7 and 8
Ans: b
Feedback: Effective scheduling requires that sequential tasks be distinguished from concurrent tasks, the latter permitting tasks to "overlap" in the schedule. The key to all scheduling techniques is to distinguish tasks that must be done sequentially from those that can be done concurrently. In Figure 22-8 only tasks 2 and 3 have a planned period of work that overlap.
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142. Which of the following tasks shown in Figure 22-8 must be done sequentially?
a) 1 and 2
b) 3 and 4
c) 5 and 7
d) 6 and 7
e) 2 and 3
Ans: a
Feedback: Effective scheduling requires that sequential tasks be distinguished from concurrent tasks, the latter permitting tasks to "overlap" in the schedule. The key to all scheduling techniques is to distinguish tasks that must be done sequentially from those that can be done concurrently. In Figure 22-7 only tasks 1 and 2 must be done sequentially.
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143. What is the name of the method that is the basis for the scheduling techniques used today in marketing and production, including elaborate computerized methods?
a) Grant chart
b) Glass schedule
c) Gantt chart
d) Action list
e) Outcome chart
Ans: c
Feedback: Effective scheduling requires that sequential tasks be distinguished from concurrent tasks, the latter permitting tasks to "overlap" in the schedule. The key to all scheduling techniques is to distinguish tasks that must be done sequentially from those that can be done concurrently. Henry L. Gantt developed this method of scheduling.
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144. A __________ is a graphical representation of a program schedule.
a) Grant chart
b) Glass schedule
c) Gantt chart
d) action list
e) outcome chart
Ans: c
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145. Effective teams may make use of a __________ to be sure that their class projects are finished efficiently and on time.
a) Grant chart
b) Glass schedule
c) Gantt chart
d) priority schedule
e) outcome chart
Ans: c
Feedback: Effective scheduling requires that sequential tasks be distinguished from concurrent tasks, the latter permitting tasks to "overlap" in the schedule. The key to all scheduling techniques is to distinguish tasks that must be done sequentially from those that can be done concurrently. Henry L. Gantt developed this method of scheduling.
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146. You are the team leader for a large project that is due at the end of the term. You assess which tasks must be done before others can begin and which tasks can be done at the same time. You assign team members to each task and plot out the week each task will occur during the term. All of this information is then put on a __________, a graphical representation of the program schedule you have crafted.
a) Grant chart
b) Glass schedule
c) Gantt chart
d) action list
e) outcome chart
Ans: c
Feedback: Effective scheduling requires that sequential tasks be distinguished from concurrent tasks, the latter permitting tasks to "overlap" in the schedule. The key to all scheduling techniques is to distinguish tasks that must be done sequentially from those that can be done concurrently. Henry L. Gantt developed this method of scheduling.
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147. People in __________ positions have the authority and responsibility to issue orders to people who report to them.
a) staff
b) line
c) clerical
d) stakeholder
e) product champion
Ans: b
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148. Which of the following is an example of a staff position for Bush Refrigeration Company, a company that sells refrigeration units on a lease-to-buy plan to small flower shops, delis and restaurants?
a) The CEO of the company
b) The company's vice-president of finance
c) The men who deliver and install the refrigeration units
d) The company's legal advisor
e) The company's marketing manager
Ans: d
Feedback: People in staff positions have the authority and responsibility to advise people in line positions but cannot issue them direct orders—the case here with the company's legal advisor.
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149. Those in staff positions have the authority and responsibility to advise people in line positions __________.
a) and can recommend salary and benefit adjustments for them
b) but cannot issue direct orders to them
c) but must clear all such communication with their superiors
d) and must clear all such communication with the corporate human resources department
e) but cannot fraternize with them
Ans: b
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150. Which of the following is NOT a divisional grouping used by marketing managers to implement plans and achieve their organizational objectives?
a) Geographical grouping
b) Marketing channel grouping
c) Product line grouping
d) Market-based grouping
e) Functional grouping
Ans: b
Feedback: Most marketing organizations use divisional groupings—such as product line, functional, geographical and market-based—to implement plans and achieve their organizational objectives.
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151. A company that uses an organizational structure based on "Dinner Products" or "Baked Goods" for example, uses __________.
a) method of distribution
b) areas such as marketing, finance and R&D
c) areas of geographic location
d) product line groupings
e) customer groupings
Ans: d
Feedback: A divisional grouping in which a unit is responsible for specific product offerings, such as Dinner Products or Baked Goods is called a product line grouping.
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152. A company that uses an organizational structure based on __________ uses functional groupings.
a) product type
b) business activities such as marketing, finance and R&D
c) areas of geographic location
d) method of distribution
e) a specific type of customer
Ans: b
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153. A company that uses an organizational structure based on __________ uses geographical groupings.
a) product type
b) areas such as marketing, finance and R&D
c) areas or location
d) method of distribution
e) a specific type of customer
Ans: c
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154. IBM initially used a __________ to organize its company. The company maintained a "one-product-fits-all" mentality. Each sales rep sold the company's entire line of products to different customers in a single industry, such as manufacturers or banks.
a) product line grouping
b) geographical grouping
c) functional grouping
d) matrix organization
e) market-based grouping
Ans: e
Feedback: One method of organizing a company is to use market-based groupings, which utilize specific customer segments, such as the banking, health care or manufacturing segments. IBM used an organizational structure based on industry sectors or market-based groupings.
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155. An organizational structure that is based on specific customer segments, such as the banking, health care or manufacturing segments is using a __________.
a) product line grouping
b) geographical grouping
c) functional grouping
d) matrix organization
e) market-based grouping
Ans: e
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156. A company that uses an organizational structure based on __________ uses market-based groupings.
a) geographic areas
b) lines of products
c) particular products only
d) customer segments
e) per-order dollar sales amounts
Ans: d
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157. Ingram Micro is the biggest computer wholesaler in the world. It has two divisions. One provides supplies for companies that manufacture computer products, such as IBM and Microsoft. To them it sells motherboards, monitors, etc. The other has been developed to serve the needs of the resellers and retailers who sell computers to businesses and individual customers. To them, it sells user-ready computers. In this example Ingram Micro would use which type of organizational structure for marketing?
a) Product line grouping
b) Geographical grouping
c) Functional grouping
d) Matrix organization
e) Market-based grouping
Ans: d
Feedback: Matrix organization combines market-based groupings (computer manufacturers and computer resellers) with product line groupings (finished computers and computer parts), the situation for Ingram Micro.
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158. A matrix organization __________.
a) combines a product line structure with a geographical structure
b) combines a geographical structure with a market-based structure
c) combines a market-based structure with product groupings
d) turns a horizontal organizational structure into a vertical one
e) groups products according to the distribution system that is used
Ans: c
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159. A category manager __________.
a) is a position that is only found in industrial products firms
b) has profit-and-loss responsibility for an entire product line
c) does not have any profit responsibility
d) attempts to maximize each individual brand's successes, even at the expense of another, to maximize the overall profitability of the product line
e) is accurately described by none of the above
Ans: b
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160. Procter & Gamble uses category managers to organize by "global business units" such as baby care and beauty care. Cutting across country boundaries, these global business units implement standardized worldwide pricing, marketing and distribution. The baby care category manager would have __________.
a) completely different duties from the brand manager
b) profit and loss responsibility for all baby care products
c) to use persuasion as opposed to direct authority to get any goals achieved
d) no authority over functions that affects baby care products except marketing
e) no authority on U.S. baby care product sales
Ans: b
Feedback: Category managers have profit-and-loss responsibility for an entire product line. They attempt to reduce the possibility of one brand's actions hurting another brand in the same category. P & G uses category managers to organize by "global business units" such as baby care and beauty care. Cutting across country boundaries, these global business units implement standardized worldwide pricing, marketing and distribution.
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161. Within DuPont's textile fiber department, there is a separate product manager for rayon, acetate, orlon, nylon and Dacron. The product manager for DuPont nylon would be responsible for __________.
a) making long-range plans for nylon
b) maintaining the divisional mission statement
c) modifying DuPont's organizational structure
d) creating static marketing objectives
e) doing all of the above
Ans: a
Feedback: A product manager is responsible for planning, implementing and controlling long-range and annual plans for the product for which he or she is responsible.
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162. General Mills uses a marketing structure in which one person is ultimately responsible for the marketing of a specific product. For instance, one person is responsible for setting marketing goals and developing and implementing related marketing strategies for the well-known breakfast cereal, Cheerios. This person, who takes responsibility for the success or failure of the marketing of Cheerios is called a __________.
a) marketing advisor
b) product advisor
c) account executive
d) product manager
e) key strategist
Ans: d
Feedback: General Mills is one of many marketing organizations that use product managers to plan, implement and control the annual and long-range marketing plans for specific products. The product manager is ultimately responsible for the success or failure of the marketing efforts related to a product.
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163. Which of the following is NOT traditionally a responsibility of a product or brand manager?
a) Preparing annual marketing plans, sales forecasts and budgets
b) Being a strong advocate for their product
c) Cutting red tape to work with people inside the organization
d) Selecting and training the sales force
e) Cutting red tape to work with people outside of the organization
Ans: d
Feedback: Product managers become strong advocates for the assigned products, cut red tape to work with people in various functions both inside and outside the organization and assume profit-and-loss responsibility for the performance of the product line.
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164. Many large, packaged goods marketers like Procter & Gamble, Kraft and Pillsbury have used the product manager (or brand manager) system of marketing organization and implementation. Which of the following is the key advantage of this system?
a) Product managers have major responsibilities and relatively little authority
b) Product managers are short-term in their orientation
c) Product managers can assume profit-and-loss responsibility for the performance of the product line
d) Product managers have direct responsibility for research and development of new products
e) Product managers have line responsibility over sales managers
Ans: c
Feedback: Product managers become strong advocates for the assigned products, cut red tape to work with people in various functions both inside and outside the organization and assume profit-and-loss responsibility for the performance of the product line.
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165. Identifying results that deviate from plans, diagnosing their causes and taking new actions is called __________.
a) a sales analysis
b) a deviation analysis
c) management by exception
d) a situation analysis
e) a marketing audit
Ans: c
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166. The strategic marketing process involves three phases: planning, implementation and __________.
a) execution
b) evaluation
c) goal setting
d) analysis
e) adaptation
Ans: b
Feedback: The strategic marketing process involves three phases: planning, implementation and evaluation.
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167. The evaluation phase of the strategic marketing process includes __________.
a) taking actions to solve problems and exploit opportunities
b) measuring results against quantified goals
c) comparing goals and results to identify deviations
d) identifying the cause of deviations
e) all of the above
Ans: e
Feedback: Figure 22-11 shows that the evaluation phase of the strategic marketing process ties results and actions to goals, often using marketing dashboards.
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168. Amy has just completed measuring the results of her firm's marketing plan. Her next step will be to __________.
a) compare the results to the goals set for that marketing plan
b) do a profitability analysis
c) take necessary corrective action
d) bring these to the marketing auditor
e) act only if there is deviation from original plans
Ans: a
Feedback: The essence of evaluation, the final phase of the strategic marketing process is to compare results with planned goals for the marketing program in order to take necessary corrective actions.
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169. Which of the following are common examples of breakdowns for microsales analysis?
a) Customer characteristics
b) Product characteristics
c) Geographical region
d) Price or discount class
e) All of the above measures 
Ans: e
Feedback: All the variables that might be used in market segmentation may be used in sales component analysis, also called microsales analysis, which traces sales revenues to their sources, such as specific products, sales territories, or customers. 
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170. Three commonly used methods of evaluating marketing programs are __________.
a) sales analysis, marginal analysis and cost analysis
b) sales analysis, profitability analysis and marketing audits
c) marketing ROI, metrics and dashboards
d) sales audits, cost audits and marketing audits
e) internal audits, external audits and marketing control boards
Ans: c
Feedback: The evaluation phase of the strategic marketing process tries to improve marketing ROI through the effective use of marketing metrics and dashboards.
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171. Three commonly used methods of evaluating marketing programs are marketing metrics, marketing dashboards and __________.
a) marginal analysis
b) marketing audits
c) marketing ROI
d) marginal analysis
e) marketing control boards
Ans: c
Feedback: The evaluation phase of the strategic marketing process tries to improve marketing ROI through the effective use of marketing metrics and dashboards.
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172. Three commonly used methods of evaluating marketing programs are marketing ROI, marketing metrics and __________.
a) marginal analysis
b) marketing audits
c) marketing dashboards
d) marginal analysis
e) marketing control boards
Ans: c
Feedback: The evaluation phase of the strategic marketing process tries to improve marketing ROI through the effective use of marketing metrics and dashboards.
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173. Three commonly used methods of evaluating marketing programs are marketing ROI, marketing dashboards and __________.
a) marginal analysis
b) marketing audits
c) marketing metrics
d) marginal analysis
e) marketing control boards
Ans: c
Feedback: The evaluation phase of the strategic marketing process tries to improve marketing ROI through the effective use of marketing metrics and dashboards.
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174. __________ is the application of modern measurement technologies to understand, quantify and optimize marketing spending.
a) Situation analysis
b) Strategic marketing analysis
c) Marketing component analysis
d) Marketing ROI
e) Marketing response evaluation
Ans: d
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175. Marketing ROI uses modern measurement technologies to determine the results of __________.
a) manufacturing and distribution procedures
b) total field sales operations
c) personal selling and customer service work
d) marketing spending
e) hierarchical structure
Ans: d
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176. Marketing ROI __________.
a) is also called a microsales review
b) should only be conducted once
c) is the application of modern measurement technologies to understand, quantify and optimize marketing spending
d) covers a shorter time horizon than a profitability analysis
e) is accurately described by all of the above
Ans: c
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177. Relevant information in marketing ROI can come from __________.
a) managers
b) employees
c) customers
d) modern measurement technologies
e) all of the above
Ans: d
Feedback: ROI marketing is the application of modern measurement technologies to understand, quantify and optimize marketing spending. ROI marketing uses modern measurement technologies on the data collected to determine the profitability of marketing actions.
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178. Profitability analysis is a tool for controlling __________ using the profit attributable to the firm’s products, customer groups, sales territories, channels of distribution, and promotions.
a) sampling giveaways
b) coupons distribution
c) continuity programs
d) marketing programs
e) refunds
Ans: d
Feedback: Profitability analysis is a tool for controlling marketing programs using the profit attributable to the firm’s products, customer groups, sales territories, channels of distribution, and promotions. This leads to decisions to expand, maintain, reduce, or eliminate specific products, customer groups, channels, or promotions.
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179. Following the 80/20 rule, a marketing manager will try to find the _________ among the 20 percent of the customers that generate 80 percent of revenues and profits to find more like them to exploit competitive advantages.
a) demographic information
b) spending patterns
c) common characteristics
d) group with the least spending power
e) none of the above
Ans: c
Feedback: Following the 80/20 rule, a marketing manager will try to find the common characteristics among the 20 percent of the customers (or products, brands, sales districts, salespeople, or kinds of orders) that generate 80 percent (or the bulk) of revenues and profits to find more like them to exploit competitive advantages.
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180. Which of the following is a possible business decision that could result from profitability analysis?
a) Expand specific products
b) Maintain specific products
c) Eliminate specific customer groups
d) Reduce channels
e) All of the above 
Ans: e
Feedback: Profitability analysis is a tool for controlling marketing programs using the profit attributable to the firm’s products, customer groups, sales territories, channels of distribution, and promotions. This leads to decisions to expand, maintain, reduce, or eliminate specific products, customer groups, channels, or promotions.
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Short Answer

181. In a five-year study, researchers Nohria, Joyce and Roberson conducted in-depth analysis of 160 companies and more than 200 management tools and techniques, such as customer relationship management and use of an intranet. What were their findings? That is, according to the researchers, how would a company exploit its competitive advantage to achieve superior business performance?
Ans: Four basic business and management practices are what matter in obtaining superior business performance. They include (1) strategy, (2) execution, (3) culture and (4) structure. Firms with excellence in all four of these areas are likely to achieve superior business performance.
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Learning Objective: 1

182. What is a sales response function?
Ans: a sales response function relates the expense of marketing effort to the marketing results obtained. It can be shown graphically with the annual marketing effort plotted on the horizontal axis and the annual sales revenue plotted on the vertical axis. The result is almost always an s-shaped curve.
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183. List the three phases of the strategic marketing process and the output report for each.
Ans: (1) Planning is the first phase. It output report is marketing plans or programs that define goals and the marketing mix strategies to achieve them.
(2) The next phase is implementation. Implementation output reports are action memos that tell (a) who is (b) to do what (c) by when.
(3) Evaluation is the final phase. Evaluation output reports include corrective action memos triggered by comparing results with plans, often from the firm's marketing dashboards and metrics.
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Learning Objective: 1

184. List the three steps of the planning phase of the strategic marketing process. Briefly describe what goes on during each of the three steps.
Ans: The planning phase of the strategic marketing process includes three steps.
Step 1 is the Situation (SWOT) analysis. During the SWOT analysis, a company will identify industry trends, analyze competitors, assess own company and research customers.
Step 2 is market-product focus and goal setting. During Step 2, the company will set market and product goals, select target markets, find points of difference and position the product.
Step 3 is the marketing program. During this step, the company will develop the program's marketing mix and develop the budget, by estimating revenues, expenses and profits.

Page: 615, figure 22-2

Learning Objective: 1

185. List and explain two types of marketing plans.
Ans: Long-range marketing plans cover marketing activities from two to five years into the future. Such plans are often directed at top-level executives and the board of directors.
Annual marketing plans are usually developed by a marketing or product manager in a consumer products firm. They deal with marketing goals and strategies for a product, product line or entire firm for a single year.
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186. Describe Porter's framework and the four resulting generic business strategies.
Ans: In Porter's framework, the columns identify the two fundamental alternatives firms can use in seeking competitive advantage: (1) becoming the low-cost producer within the markets in which it competes or (2) differentiating itself from competitors by developing points of difference in its product offerings or marketing programs. The rows identify the competitive scope: (1) a broad target by competing in many market segments or (2) a narrow target by competing in only a few segments or even a single segment. These columns and rows result in 4 business strategies.
cost leadership strategy: broad target, lower cost
differentiation strategy: broad target, differentiation
cost focus strategy: narrow target, lower cost
differentiation focus strategy: narrow target, differentiation

Page: 618-619, figure 22-4

Learning Objective: 2

187. Explain what diversification analysis is and describe the four marketing strategies that underlie diversification analysis.
Ans: diversification analysis is the search for growth opportunities from among current and new markets as well as current and new products. Four strategies underlie this analysis.
(1) Market penetration is a marketing strategy of increasing sales of present products in existing markets.
(2) Market development is a marketing strategy of selling existing products to new markets.
(3) Product development is a marketing strategy of selling new products to existing markets.
(4) Diversification is a marketing strategy of developing new products and selling them in new markets.
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188. List five guidelines for developing effective plans and planning.
Ans: effective plans and planning are characterized by:
measurable, achievable goals
a base of facts and valid assumptions
simple, but clear and specific plans
complete and feasible plans
controllable and flexible plans.
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Learning Objective: 3

189. List four problems that occur in the planning phase of a firm's strategic marketing process.
Ans: Plans may be based on very poor assumptions about environmental factors.
Planners and their plans may have lost sight of their customers' needs.
Too much time and effort may be spent on data collection and writing the plans.
Line operating managers often feel no sense of ownership in implementing the plans.
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Learning Objective: 3

190. A difficulty when a marketing plan fails is determining whether it is primarily due to a poor plan or poor implementation. Describe the grid which results from considering (1) good and bad marketing planning and (2) good and bad marketing implementation. What are the outcomes of each combination?
Ans: The following grid illustrates the combinations of (1) good and bad marketing planning, (2) good and bad implementation.
[image: image6.wmf]
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Learning Objective: 3

191. A common theme among managers who succeed repeatedly in program implementation is communication. Why is this so important?
Ans: One method of improving implementation of marketing programs is to communicate goals and the means of achieving them to the doers. The personnel called on to implement plans need to understand both the goals sought and how they are to be accomplished. Communication insures everyone is clear about the firm's goals and allows personnel to focus their activities to achieve that goal. In addition, another key to implementation is open communication. Success often lies in fostering a work environment that is open enough so doers are willing to speak out when they see problems (without fear of recrimination). This allows problems to surface and allows the group to focus on solving those problems.
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192. Management experts call for a "bias for action". How can this attitude be important in marketing program implementation?
Ans: Management experts have concluded perfectionists finish last. They argue getting 90 percent perfection and letting the marketplace help in the fine-tuning helps the implementation process. Another argument for the approach comes from Kelly Johnson, head of Lockheed Aircraft's Skunk Works. He recommends:
**decisions should be made promptly
**avoid paralysis by analysis.
Thus, the preference for doing something—anything--rather than sending an idea through endless cycles of analyses helps marketing programs work.
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Learning Objective: 3
193. List the six guidelines for improving implementation of marketing programs.
Ans: communicate goals and the means of achieving them.
Have a responsible program champion willing to act.
Reward successful program implementation.
Take action and avoid paralysis by analysis.
Foster open communication to surface problems.
Schedule precise tasks, responsibilities and deadlines.
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Learning Objective: 4
194. Explain what a Gantt chart is and how it is used.
Ans: a Gantt chart is a graphical representation of a program schedule. Developed by Henry L. Gantt, this method is the basis for the scheduling techniques used today, including elaborate computerized methods. The key to all scheduling techniques is to distinguish tasks that must be done sequentially from those that can be done concurrently. Scheduling tasks concurrently often reduces the total time required for a project.

Page: 628, figure 22-8

Learning Objective: 4

195. What is the difference between line and staff positions in a marketing organization?
Ans: People in line positions, such as group marketing managers, have the authority and responsibility to issue orders to the people who report to them, such as marketing managers. People in staff positions have the authority and responsibility to advise people in line positions but cannot issue direct orders to them.
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196. What are the advantages and disadvantages of the product manager system?
Ans: There are both benefits and dangers to the product manager system. On the positive side, product managers become strong advocates for their assigned products, cut red tape to work with people in various functions both inside and outside the organization and can assume profit-and-loss responsibility for the performance of the product line. On the negative side, even though product managers have major responsibilities, they have relatively little direct authority so most groups and functions must be coordinated to meet the product's goals. To coordinate the many units, product managers must use persuasion rather than orders.
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197. How is management by exception used in the evaluation phase of the strategic marketing process?
Ans: Goals are specified in the planning phase of the strategic marketing control process. If these goals are not achieved, a marketing manager can use management by exception to exploit new opportunities or correct problems—both reasons why the objectives were not attained. This requires identifying results that deviate from plans, diagnosing their causes and taking new actions.
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198. Explain the steps in the evaluation phase of the strategic marketing process.
Ans: The evaluation phase of the strategic marketing process ties results and actions to goals which often use marketing dashboards. Quantified goals are compared to measured quantified results to identify deviations. The causes of the deviations are then quantified and new plans and actions are formulated to correct problems and exploit opportunities. This information is fed back into the process as revised actions and a revised plan.
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